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Toret wafer fgqe o1 3w fopeht Ut i <t Aforenr
TG 39 H o forw fomem o 7, foem g wey
I TS I Uiad! e grT aHTEifeTa foRam ST deha
2 1 27°C &y a9 W WY I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g

(1) 330 m/s
(2) 339 m/s
(3) 300 m/s
(4) 350 m/s

I3 goAde formraEen ¥ fhet Tshem™ qum SR w
Feate fgq-49 E 4 ®8 § 18 g, h, a1 2 | s@
foga-am &1 o swufEfda wd gu sweht fom
Iohid L @ STt 7 | foRet e o formmEEen &
31 & FEaler gt h 9% 8 e o Sran @ | Wed
% i ¥ fofw e wme < go | soiae g fRd |
form T Ty R

(1) =H

(2) 57T 3Tfreh

(3) =

(4) 10 7T TR

I3 AT Teh I SHo Yo7 6 Td & Al 2 3N
W MEd aleish hi Aifd gad 9 9 WA i
w e | e feufd & 5 m g W He Mo H
TR 20 m/s? ® | I ST SATEAhIA &

(1) 2ms
(2) ms
3) 1s
4) 2s

Ay Q * Tt fogea wwa ufgemt wenfa ¢ #
STh A ITeft 9T1q 1 dfgehredt & = fr-agy sa
(1) dfgewreit % f A g w Fef T8 b |

(2) dfgwsti & = H1 gl % Washd: g
Bl 7 |

(3) uigehial % el 1 gt o IeHUTIAT Bra # |

(4) dfgwiat & = 6 gt % A * STIHEIAT!
Bl # |

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 339m/s
(3) 300m/s
(4) 350 m/s

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller

(2) b times greater
(3) equal

(4) 10 times greater

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2mns

2) ms
3) 1s
4) 2s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) independent of the distance between the
plates.

(2) linearly proportional to the distance
between the plates.

(3) inversely proportional to the distance
between the plates.

(4) proportional to the square root of the
distance between the plates.
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foreht w1t Fuselt freamnfiet it g gmfear 5 div/imA
3R Sieed! guiedt (Sgad $ehTs diced] § 3cad N
o) 20 div/V 2 | 39 Toaamie 1 gfadg 3

(1) 40Q

2) 25Q

(3) 500Q

(4) 250Q

foreht forga-grares & ydi o offe gfeerashia werd i
T Udel B8 Fearer e 7 | 9 foed-gree § g
yaTfed hl STt 7, A1 98 B &fdel Jrachid &F § 98l
SR H 3 bt TR 7 | W IHR T B TeedE
feufasr ot ureq et 8 | WE R % fow staveeh
S HaT B

(1) fora &

(2) b &

(3) Y foe@-a < fop wfted grasha & @ 3ca=
BT 3

(4) B & g h ATcteh T=HT

20 mH T s ITh, 100 pF 1 I G q9T 50 Q
1 H1g fqliesh, fa.a1. s (emf), V = 10 sin 314 t
& Tt wa @ 9oft § TfSa & | 39 uiwy # wifeq
DR

1) 079W
(2) 043 W
3 113W
4) 274W

0-5 kg m~! wfd 3h1E @raTg geme i foReht arg <t
afes g = Th oo 3THa 9 W S &fes | 30°
T IV T 7, W& T R | 39 B hl EH I
T JeTEd hehl I Tehd a1 feam Smar 919 38 W
0-25 T ST 1 Frehld &7 Heater foem § &l =t @
? | O o fOR w@H & foru 3o yanfea a2

1) 714A
(2) 598A
(3) 11-32A
(4) 1476 A

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q

(2) 25Q
(3) 500Q
(4) 250Q

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational potential energy. The work
required to do this comes from

(1) the current source
(2) the magnetic field

(3) the induced electric field due to the
changing magnetic field

(4) the lattice structure of the material of the
rod

An inductor 20 mH, a capacitor 100 pF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

1 079W
(2) 043 W
3 113W
4) 274W

A metallic rod of mass per unit length
0-5 kg m! is lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

1) 714A
(2) 598A
(3) 11-32A
(4) 1476 A
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10.

11.

(47 + 4-7) kQ Wity & Foreht Sreq-gfcligs W/, T8gaH
% foru, fafira aurt o ao ifha fopr 5 2 | 3ot wre
T A BT

(1) S —dier — FRf — =T o1

(2) dar — ST — et — =t o1

(3) B —AWM — S — gy

(4) e — & — S - TR

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
gfqtie, ‘R’ 1 et S @ Taforg B | S 9 oft
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
o frn S g 1A S oA T awm 10 I &
Tt ] | ‘n’ BT HAH B

(1 10
2 11
3 9

(4) 20

g el Al Iaug ¢ a1, Jufishy | Sfd, ‘o’
TdEn Al (T n giEdl 3) ¥ oS 7 | 9l *
et b1 Tgued ek g [ ATt S 7 | fem mn
HIA-FT % 1 3R n % = TE ey w1 guiar g 2

I—
@ !
(@) —>n
I
(2) T
o) —n
I
@ 1
(@) —>n
I
4) T
(@) —>n

10.

11.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different for its
identification. The colour code sequence will be

(1) Violet — Yellow — Orange — Silver
(2)  Yellow — Violet — Orange — Silver
(3) Green — Orange — Violet — Gold
(4) Yellow — Green — Violet — Gold

rings colours

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 10

(2 1
3 9
(4) 20

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.
the current I is measured. Which of the graphs

shows the correct relationship between I and n ?

I—
@ !
(@) —>n
I
(2) T
0 —>n
I
(3) T
O —n
I
@ !
0] —n
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12,

13.

14.

@%WW&,W%WEW& 2 mm 2
don 5t ¥ ¢ 1 g D & 100 cm @d §Y qUICHA
A = 5896 A % JehISl T IUANT foRa1 TR B | ¥ 4R
o1 fom fibetl <t wivfia =S 0-20° % | d9 (381 A 3R
D % forw) fibsti &1 shiviiar =SS o1 agem 0-21° &

% fore fafet & g % gorekT 1 e g
(1) 1-8mm
(2) 19mm
3 17mm
4) 2 1mm

foret @Tiele oTaadt gremieh 1 SIvflE STadq o1fere
3R i faves 3= g0, afe sueh gy o i
(1) " g 4 3K =™ 5271 2

(2) WIhE gl 3k 3N =8 e 2

(3) WIHH g A 3R = BreT B

(4) HiHE gl Atk 3R = 921 2

JuEdHH W I ggrd % R THae U W w
AYfad TH™ I ¥ HaT wal 7 | e o
MU HIOT ¢ W Ig 91 T foh TWakad Rl 3R
sTgafda forl Us-ge & @raaq 8 | fFefafed § &
H-a1 fened 39 feufa o v 2 2

(1) wEfdd v gfad 2 3R g@en fagq |few
JYGH % dcl o THH &

(2) wafia v gfaa 2 o sue foga afew
HTYH o el o oTeeed 8

= tan™! (lJ
1)

sin~! (l)
1)

3 i

4) i

12,

13.

14.

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

1) 1-8mm
(2) 1'9mm
3) 1'7mm
(4) 2-1mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and large diameter
(2) large focal length and small diameter
(3) small focal length and small diameter

(4) large focal length and large diameter

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays
Which of the

following options is correct for this situation ?

are

(1) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(2) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(3) i=tan! (EJ
u

(4) i=sin! (lJ
n
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15.

16.

17.

18.

#E Fre g w1 PRt mem A A V = Vi @
T W g | e aw 39 fagg-grasde air @
foga-a= QoM +y W b W B | d9 W

forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) -—zfem
2 +zfem
(3) —xfam
(4) —yfem

fopeht forom & vered ot sredie /2 IR fisH w1 w
30° ¥ | fem & @ omads gst § @ uw W =i
et i 1 AT I 4R T 2 | g Bk |
TOST T I ThaUT JeRTeT W1 his G (U1 aTel I8
T WEfdd g & IvEr) 3§ U W I ol S,
afe firsa W STT9a o 1 A= R

(1) 60°

(2) 45°

3 I

(4) 30°

Hig o7 15 cm BIHH g &% forell s/@aa gdur &
40cm@mﬁ%%|aﬁsaﬁwaﬁaﬁwﬁﬁwﬁ
20 cm TIAFARG X fean S, gfafars foeaft gl
R foreenfua &1 smam ?
(1) 30cm‘6ﬁ'UTﬁ§
(2) 36 cm T H T
(3) 36 cm TYU % U
(4) 30 cm TYU1 % I

fordt It W 60 mA < 9N JaTRd HE W IH Wk |
wfua graha feufast ot &1 7 25 mJ 2 | 39 I
T YTehed B

(1) 0-138H
(2) 13888 H
(3) 13-89H
(4) 1-389H

15.

16.

17.

18.

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) + z direction

(83) —xdirection

(4) -y direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 45°
(3) zero
(4) 30°

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be

(1) 30 cm away from the mirror

(2) 36 cm away from the mirror

(3) 36 cm towards the mirror

(4) 30 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0-138H
(2) 13888 H
(3) 13-89H
(4) 1-389H
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19.

20.

21.

22,

foreh eamfaea werd 1 ardamy 10 fime & 1 =fe
ey § ARl Y T 600 7, A1 450 TRl %
forafea B9 & @ 9o @ (feme ) 2

(1) 20

(2) 10

(3) 15

4) 30

BIESoH WY 1 fopelt s when # fopet g <l
TSt St 3T IEhT el Fl hT I Bl @

(n 1:1
(2 1:-1
3 1:-2
4 2:-1

AR AV = Vi (Ve > 0) 3 ZoH m
w1 B wwA Rl REAeE E - - B |
(Bq = T > 0) § t = 0 W Jorwr et 8 | afe Jmoey
H 38 goiagE hl Tl queed A ®, @ ¥t W
EEE IR S i Y R

S foret a1 % I8 W AEN 2v, (J/T v, <gal
IR B) T TR I HIAT &, A1 Iedfotd gerag it
1 AR T v, 7 | S& 3Mufa faferon i smgfa
TR Gy, B G I 7, q I IS ¥ Icahid
Wqﬂﬁwaﬂvzﬁm%lvlﬁvzaﬂ
U B
1 1:
2 1:
3 2

2
4
01
4) 4:1

19.

20.

21.

22,

half-life s
10 minutes. If initially there are 600 number of

For a radioactive material,

nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 20
(2) 10
3 15
(4) 30
The ratio of kinetic energy to the total energy of

an electron in a Bohr orbit of the hydrogen atom,
is

(1 1:1
2 1:-1
3 1:-2
4 2:-1

An electron of mass m with an initial velocity
- A

d A
E =-Eji (Ej = constant > 0) at t = 0. If A is

(Vo > 0) enters an electric field

its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

M
[1+ eEo tJ
mVO

eE 0 t
mVo

(1

2 A (1 +

3) 2

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1 1:2
2 1:4
3 2:1
4) 4:1
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23.

24.

25.

fomr 4 fo o 1S &% wEeE O fefa Y 1 fewt A e
B % 92l H 39 YhR ¥ad fehIT ST HehdT &
>0 Y

‘;?:r

(1)

>
vs]

>
[ss]
>
o

(2)
3

+

>

+B

4 A.B+A.B

fu T ufmy smw #, fEw deed (V) 20V,
VBE=OHQHVCE=O%| IB,ICWB%W@'PI

20V

(2) Ig=25pA, Io=5mA, B =200
(3) Ig=40pA, Io=5mA, f=125

4) Ig=20uA, Io=5mA, f=250

foret p-n @ftr se © T 9 @ am A gftEdH
(1) haa gopd (Tad) gfatra i gefea wear 7 |
(2) hact U TfRIY i JHIfd T 8 |

(3) p-n @Y % qHY V — I f¥ctaror s gurfard s
=

(4) p-n G % gfere = gefed T w7 |

23.

24.

25.

In the combination of the following gates the
output Y can be written in terms of inputs A and
B as

Ae
Be

> ¥
>

(1) A.B
(20 A.B+A.B
3 A+B
4 A.B+A.B

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, I and P are given by
20V

(1) Iy =40 pA,
(2) Ig=25pA,
(3) I =40 pA,
(4) Ig=20pA,

Ic =10 mA, B =250
Ic=5mA, B =200
Ic=5mA, B=125

I =5mA, =250

In a p-n junction diode, change in temperature
due to heating

(1) affects only reverse resistance
(2) affects only forward resistance

(3) affects the overall V — I characteristics of
p-n junction

(4) does not affect resistance of p-n junction
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26.

27.

28.

29.

IS 3 AT GoFd ATRIY | 10T A9ty 317 < ufia:
o &9 U R @ 7 | 39 M H GEHE FHE
T@d gu sEh e # gfg it St B 1 Ma & foe
Freafafea & @ wR-E difes ufs for w2

(1) hIof o

(2) Srgea T

(3) IvfT HaT

(4) =off fas St

T & IR IR el wan § wiowe U7 i et
A, B 3R C W s HArd A K, Kp 3 K 7 |
AC < 31 ® qen g i feufa S w SB fesmgem &

AT ACH T g | a9

(1) Ky<Kg<Kg
(2) Kp>Kg>Kg
3) Kp>K,y>Kq
(4) Kp<K,y<Kq

afe & &1 geEmE 1i0 AT B qT A Teed eyl
feorres afwmmr § 10 T &1, @ Fefafed § & SE-
T 7T 72

(1) auf & 2 ot T sk o & it |

(2) ol W = 3feeh e & ST |

(3) gt W ‘g’ % W H itacd & & |

(4) YA W WA AT 1 STEAHRIA HH 8 S |

Th 3 el died Ta # R | died ia # g ol
TIFTAE TS et (K,) o S1e-8me gqoil Tfas S
(K,) +ff gt 3 | Tl & foU K, : (K, + K,) & 39«
g

(1) 7:10
(2 5:7
3) 2:5
4) 10:7

26.

217.

28.

29.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity
(2) Moment of inertia
(3) Angular momentum

(4) Rotational kinetic energy

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Ky<Kg<Kg
(2) Kpy>Kg>Kg
3) Kg>K,>Kg
4 Kg<Ky<Kq

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Walking on the ground would become more
difficult.
(3) ‘g’ on the Earth will not change.

(4) Time period of a simple pendulum on the
Earth would decrease.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K; : (K; + K)) for

the sphere is

(1 17:10
(2) 5:7
3) 2:5
4) 10:7
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30.

31.

32.

33.

Frsan < o1 *ig @Y e fommaTen @ frdt wH g |
fiRaT 2 | ¥ o1 % RO A SSAT 39 BT B |
M & Afm (effadd) a1 W Ioad 1 Hl K
FeafeRaa # ® foprges STgshATIAT 1l & ?

@ 3

2 r
3) r
4 1

M= g (1:013 x 105 Nm™2) 3R 100°C a4 W
0-1 g I % T HI 100°C hT 99 H gREfdd F &
fAu 54 FAt ST HA] H EIHAT B & | AR

39H WM H AW 167-1 cc 7, 91 39 I H
ATt ol # qiedd 8

(1) 104:3J
(2) 2087J
(3) 845J
4) 42-24J

T IR T g o o4 § 3R FI b Aad ot aue
g | U8 TR I AIIEAFIE H &APA A 3T T AR
h IATRY-FE H &TFA 3A & | IC 9a F AR
Ug AR g H AL H glg S 7, o g R
# T 7 oft 3aft @ 3fg FE F T fohad s@ R
SATEvhAT BT 2

1) 9F
(2) 6F
3 F

4) 4F

foreht sfsrent g faferfia wifers P 2 e a8 e,
Ay T IMfUhad Hwil fafepid w4t & | o9 IfC 34
it 1 a9 ufafia = fen s 3, few 6 ww

%xom@mmmﬁﬁmm%w
3G g fafehita W nP &1 STt 8 | n ST A BT

(1)

(2)

W | B |w

81
256
256
81

3

(4)

30.

31.

32.

33.

A small sphere of radius 1’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

(1) r’

(2) r?
3
4 1°

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 20874d

(3) 84:5J

(4) 42-24J

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F

(2) 6F

3) F

(4) 4F

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ag, the power radiated by it

becomes nP. The value of n is

(D

(2)

[SCR RN N U

81
256
256

81

3

4)
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34.

35.

36.

37.

forg W ST et 1 a WIS WA (rms)
oA gl o IYATSA H TARH L TR W foIT A
T & S ?

(e T 2

SIS o 3T T WM (m) = 2:76 x 10726 kg
diegs e ky = 1-38 x 10723 J K1)

(1) 2508 x10*K

(2) 8360x10*K

(3) 1254x10*K

4) 5016x10*K

forelt ThTRHTU A| % EAH (V) H A9 (T) & @
fomror o6 H gWiC SgER BT B | HAeEEAl A H
JTEET B 7 S <t Ufsha # 19 g fohu 7w Rt 31

sﬂé;m;rmﬁﬁamwagqm%
! B
A
o —>T
w 2
@ g
3) %
@ %

forelt go1 AT d1sd I g Tgfa R S AT
TIEd % A g (FE) S STER %k w2 |
afg awg M gy hI T 20 cm B, O G AH
q1gd hi TS B

(1) 13-2cm

(2) 8cm

(3) 16cm

(4) 12-5cm

A o T IR AR o Sie hrEd [l 3Tex

o1 S5 < 2&TdT Bl @
(1) 268%

(2) 20%

(3) 12:5%

4) 625%

34.

35.

36.

37.

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 1023 g K_l)
(1) 2-508x10*K
(2) 8360x10*K
(3) 1254x10*K
(4) 5016x10*K

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

ﬁT

(1

(2)

6))

Wl | w i o b

(4)

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

1) 132cm

(2) 8cm
3) 16cm
4) 12-5cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 268%

(2) 20%

3 12:6%

(4) 6:25%
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38.

39.

40.

41.

3@ # gt SHER = h & odoRfEd uy % sgfew
form STerEe § TR Tl 1S {9, sa® AB = D %
FHealeR g I Sh-3Neh IU HT 2 | 99 Ha18 h Eefr

B

I O

A

(D

2 D

5
(3) ZD

7
(4) gD
= fovg, A : (T 3™ @), B : (TH dac IR
FHdt) qA C : (Th JAHR Bgl), W J@F *
geaqE M qen B R R, @UE hivig oI o | A9
Tmfufa 21e7t o ufta: ko 9 W@ B | 38 faummeEen |
M & e fohr S 9l stevEs ST (W) & fof
-9 Hoy TE R 2

(1) We>Wg>W,
(2) Wp>Wg>Wg
(3) Wpr>We>Wg
(4) Wp>W,>Wgq

Frafafga & @ ®H-51 S99 @ B 2

(1) e adu adf oo & =5 gar g |

2) wfqe odur &1 dwea o stfiers gfdafsen &
STIHUTIAT Il 2 |

(3) |t = Uk St fomd orretg i fomm % wEe
B E |

(4) =N S 3MUTeTek T ST feRie LT 7 |

TEHE m 1 Teh TR Tehl, 4m GHH & fohet
TR R ek § HUg HAT B | HUZ % U, GO
el form raEe ® o1 A ® | AN gk ek H
SRR 7T v &, 1 T 0T (e) T | BT

(1) 05
(2) 025
3) 04
(4) 08

38.

39.

40.

41.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
(1) 21)
@ D
3) gD
@ LD

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed » about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) We>Wg>W,
(2) Wuo>Wg>Wgq
(3) Wr>Wi>Wg
(4) Wg>W,>Wg,

Which one of the following statements is
incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Limiting value of static friction is directly
proportional to normal reaction.

(8) Coefficient of sliding
dimensions of length.

friction  has

(4) Frictional force opposes the relative motion.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 05

(2) 025
(3) 04
(4) 08
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42.

43.

44.

45.

M HIUT 0 o fopdl e 3TMd 39 ABC W m
TSI o1 WIS sl FATHER T 8 | 39 o &l grff
3R HIg Ol ‘@’ Team Sar B | sotieh bl o9 W @R

T & T a 3R 0 & <= Gy 8
A
2
a
0
C B
(1) a= g
cosec 0
_ 8
@ a=an0

(3) a=gtan®
(4) a=gcosB

ﬁ%ﬁiwmmmq%%{ﬁw
fogd-a9 E %Wﬁ%ﬁeﬁaﬁmﬁqw%ﬁig@
WA R | T UhUS o A0 H §A q E &
ST B AT 0 W 6 m/s & ST B | SE &
forga-a 1 foun Sohfig s & It B | 3@ B &
9T H HR 3N < AHvg dh Tfd KA @A R | 0 &
3 UHvE & o9 R SR & fEd o IR 3fiea
a1 A 7

(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

(3) 1-5m/s, 3m/s
(4) 1m/s, 3:5m/s

—> A A
g (2,0, - 3) WFRH@ad F = 41 + 5] — 6k
g (2, — 2, — 2) % af@: ATl &
1) -8i -4 -7k
A A A
@ -—47-5 -8k

3) -71-4; -8k

4) —71-83 —4k

Torelt B = 3TUTA T Y g % AT I AT 0-001 em
JeqaHT® I B W GRSl | H&F 9 H AW
5 mm 3R IAE M H I T Tad | 25 WA
SW 2 | A T A9 H I I - 0:004 cm B, A e
1 W&l SAE B

(1) 0521 cm
(2) 0525 cm
(3) 0-529 cm
(4) 0053 cm

42.

43.

44.

45.

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

2
a
m\
C B
1 a= 2
cosec 0
g
2 =
@ a=200
(83) a=gtan6
(4) a=gcosH

A toy car with charge q moves on a frictionless
horizontal plane surfac_e> under the influence oi)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

3) 1-5m/s, 3m/s

(4) 1m/s, 35m/s A R A
The moment of the force, F =41 + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k
A A A
@2 -4i-j -8k
A A A
3 -7i-4j -8k

A A A
(4) -71-8j -4k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5§ mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm
(2) 0525 cm
3) 0529 cm
(4) 0053 cm
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46.

47.

48.

49.

YIS TS YT (THHTe) H o S @ 2

(1) IEASHA H IERISE S0 &, Saih JeI0EA |
IR & 3 |

(2) WHUSET H G S E, Sl b |
TS 5 & |

(3) YERISHA H I A, Selfh Yoo H
GRS T WISl IR F Yshosh
Afcremat & fEeht § A= 1 @ |

(4) ERIUSHA H SRS T Heroll IR o
Wehors Afrhien 1 et # HeA B R,
Sfeh YhIUE H Yh1Y] S § |

TR YT <t yureTel forgl Sew fohed St B 2
(1) el T HEISHRR

(2) ITdEcTET U HEISTER

(8) TRl Ud dEcal

(4) YEISER U UIYhReh

M ‘T’

(1) TS § TECSH UTE ol 3Ta%g hid! & Td 7l
% 9T T el 2 |

(2) WSl H IS sl Higdl %l Wil ® T
STSIET ! Ushd! B |

(3) U qva-AyA mHES B |
(4) THIUDR |

AT ] AT W % AU 90 ®i-8 BEE Erfed
HIAl B ?

(1) hCG, hPL, TSEoH, TreAfae

(2) hCG, hPL, wegieH, fifeam, affeaertam

(3) hCG, YNIESH, TEISH, Tehiohichises

(4) hCG, hPL, TSEEeH, TESH

46.

47.

48.

49.

The difference between spermiogenesis and

spermiation is
(1) In spermiogenesis spermatids are formed,
while in

spermiation spermatozoa are

formed.

(2) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

(3) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

(4) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

The amnion of mammalian embryo is derived
from

(1) ectoderm and mesoderm

(2) endoderm and mesoderm

(3) ectoderm and endoderm

(4) mesoderm and trophoblast

The contraceptive ‘SAHELTD

(1) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) is a post-coital contraceptive.
(4) 1isan IUD.

Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, hPL, progestogens, prolactin

(2) hCG, hPL, estrogens, relaxin, oxytocin
(3) hCG, progestogens, estrogens,

glucocorticoids

(4) hCG, hPL, progestogens, estrogens
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50.

51.

52.

53.

54.

T 1 H TS Al o &R 11 hl Ael § e hifs
3t f= feu U fasedi § @ @E? fawew w1 =R

HINT

&y [ wey IT

a.  TGUGHIT UEEAT i TR %R 1 foee

b. @l g ii. geshid e

c. RJEE iii. dafivg graen
a b c

(1) i i i

2) i iii ii

(3) i i ii

(4) ii iii i

TTH U HIF-HT U BT 9T 75T 7 2

(1) =T

(2) HTEHATCHS A

(3) 3dFHh

(4) TR

T Tt % Uk X UG § X-Her 3TEEdT B | g U
fore e Bem 2

(1) <haet go@T #

(2) had g |

(3) i wd g gl |

(4) adt Trar-aifet/Ard-Trfaat &

g & AT % orEr fawm S frnfafy fra wer
Bt & 2

(1) S g Ieaiaa

(2) HTeeRH

(3) g Icufada

(4) <ifires g9 TEY giEdq (Seoredt faferrar)

T SH % HIfST 59 H % AGGTATCGCAT 2 |

3G g AJIRad mRNA 1 Hefed sh0 =1 BT 2
(1) AGGUAUCGCAU
(2) UGGTUTCGCAT
(3) UCCAUAGCGUA
(4) ACCUAUGCGAU

50.

51.

52.

53.

54.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I

a. Proliferative Phase 1. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

(1) il ii i

(2) i iii ii

(3) iii i ii

4) i iii i

All of the following are part of an operon except
(1) an operator

(2) structural genes

(3) a promoter

(4) an enhancer

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1)  Only daughters

(2) Only sons

(3) Both sons and daughters
(4)  Only grandchildren

According to Hugo de Vries, the mechanism of
evolution is

(1) Multiple step mutations
(2) Saltation
(3) Minor mutations

(4) Phenotypic variations

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) AGGUAUCGCAU
(2) UGGTUTCGCAT
(3) UCCAUAGCGUA
(4) ACCUAUGCGAU
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55.

56.

57.

58.

59.

60.

Frafafga soar fowm & serwn 4 4 7o77 fowhew
T =TI HINT :

(1) WM, WIS Ud =il & 3WIE

(2) SHUIES, HiAd T <Hidl I T

(3) SATFIUH, TTCS T HHG hl 3G

(4) TWNEE, A T Al 1 Aiedsh

39 % G@ W OBAWU U IR TS UV &l

forereht gfg & hror Bl B 2

(1) faerfm D

2) faarfim A

(3) foarfm E

(4) fqafm By,

Frafafea @ & si-a1 @yfaen U1 787 2 2

(1) =il

(2) ®HI AftremYy

(3) fafefemm

(4) TASTEH I

3k HITHI b WU hl I TEAT H HHAFAT
foperehT g B ?

(1) ¥HHITAdT

(2) RESEnI

(3) e faferto

(4) <fEd foem

frefafea ifiraso & @ ®9-8 997 § SRR ot 6
ST’ T gd & 2

a.  gwIferdn

b.  GEuwIedr

c. g A

d.  orqul yufera

e. a@qﬁ‘orsrrrr%

(1) b,c@e

(2) a,b‘lﬁic

3) acUWe

(4) b,dWe

fre T H west g Haid O] % hRUT TRl
gl o fewepreft S Scu= grar 8 2

(1) Tfaseufam
(2) UEhRRfEE
(3) ohfefem
(4) fored o

55.

56.

57.

58.

59.

60.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1)
(2)
(3)
4)
Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin D

(2) Vitamin A

(3) Vitamin E

(4) Vitamin By,

Forelimbs of man, bat and cheetah
Heart of bat, man and cheetah
Eye of octopus, bat and man

Brain of bat, man and cheetah

Which of the following is not an autoimmune
disease ?

(D
(2)
3
4)

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(D
(2)
3
4)

Psoriasis
Rheumatoid arthritis
Vitiligo

Alzheimer’s disease

Homology
Analogy
Adaptive radiation

Convergent evolution

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1)
(2)
3)
(4)
In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(D)
(2)
3
(4)

b,cand e
a,bandc
a,cande

b,d and e

Elephantiasis
Ascariasis
Amoebiasis
Ringworm disease
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61.

62.

63.

64.

65.

Fraffea @ & siF-a1 ‘SRR e ¥ 7g7 AT ?
(1) TS T uTeh

(2) ufed IqaH
(3) 9t
(4) IHHfd ITH

“Cep” ATk I U1 WY o foRE 9T | TS Bt B 2
(1) %o &

(2) WeHH
(3) =i |
(4) i ¥
T <1 I Fedl g3 e §

(1) SFAgd =afse Sem safsedi & a1 8 £ |

(2) SHAEH SAfSe SR SAfsel & 9 3Id 7 |

(3) G AT F&H AT § FH Bd @ |

(4) gﬂ@@mﬁwﬁﬁwﬁw@ﬁ
|

Fefafaa & @ ffercan fagm o wfasifas & 3eae

fu wfse 6t M- et R Sgar wae H

STt 2 2

(1) eIt

(2) HRIHhIET

(3) wfesH

(4) OHifern

ey 1 8 € 78 9e o1 &qw 11 6 we) 9 fres Shife
3t fiw few U fashedt @ ¥ &gt foaew &1 WA
HifsT

&y [ ey 11

a. U i. UV-B faferor

b. fed defra i, e

c. Teurua (v sawEedm) il W Tfg

d. 3@ Ed iv. smufirse faem
a b c d

(1) i i iii iv

2) i iii iv ii

(3 i ii iv iii

(4) i iv i ii

61.

62.

63.

64.

65.

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Sacred groves

(3) Seed banks

(4) Botanical gardens

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers

(2) Latex
(3) Leaves
(4) Roots

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive individuals are less than the
post-reproductive individuals.

(8) pre-reproductive individuals are less than
the reproductive individuals.

(4) reproductive and pre-reproductive
individuals are equal in number.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Mutualism

(3) Amensalism
(4) Parasitism

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a.  Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) i i iii iv
2) 1 iii iv ii
3 i ii iv iii
(4) iii iv i ii
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66.

67.

68.

f=fefiaa & @ wi9-an faehey swaw: @ 3R aaehifa
T %hel hl auT ! 3 T 9 eiar B 2
(1) a4 M; 9 gdg | HH

(2) voEfeT hI HEI § ftehdr; v Hag H
Sferehdn

(3) Y&l Udg | Y, TaEen § Wy
(4) vagt Tdg | ATeehdT; Ja@ehT I Iy

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
s =9 feu U foswmedi & @ @E Oy w1 ==

T

T 1 Eary 11
a. oo suae i, < 3rfere W W e
% o=
b. e wuwe ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
(1) 11 i 11
2 1 11l 11
3) 11 i i1
4) 1 11 i1

T I H & TS Al o TR 11 <kl wel § e hifsg
IR fra feu MU fomewi 0§ @E? famew &1 WA

I

TFy [
a. SAR A=A i.
b. oAvEEd giEa i

ey I1
2500 — 3000 7.t
1100 — 1200 fi. <.

3T

c. TvaEs gfea iii. 500 — 550 fir.&fh.
3T

d. fafe T iv. 1000 — 1100 ..
a b c d

(1) i i i iv

(2) i i iv ii

(3) iv iii ii i

4) i iv ii iii

66.

67.

68.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased

respiratory surface

(2) Increased number of bronchioles; Increased
respiratory surface

(8) Decreased respiratory  surface;
Inflammation of bronchioles
(4) Increased respiratory surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c¢.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) i i ii

2 1 iii ii

3) i i iii

4 i ii iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve  ii. 1100 — 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
(1) iii ii i iv
(2) i i iv ii
3 iv iii ii i
4) i iv ii iii
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69.

70.

71.

72.

fferfaa & & wi-an gl e ot & ogeds g
27

(1) TUEshH
(2) UHSTEEN
(3) ufegad
(4) uEISHTE

frefafga o @ wH-H AT steEr 89 396 5§
TeTd &9 9 Ifd g 2

(1) g AN : Y98 U9 ged IRE= giadt
=1 ffa s |

: dqeT % & I ufedss &
faftrr &= =1 oo o Sred
8; 7 w1 FreEor e |

: 94 Ud g yHfEdSh Mt
%I S84 aTel dqaii <l Ul |

. Tom=m g 1 3cuTed T

AT, @ q = H1
o & |

2) fafas a3

(3) YT heAEH

(4) TENgTHT

AFe 99 H qresf o fordes g o1 THH W&
22

(1) vemy %& ¥ I3 g g

(2) e & g3 s g

(3) wemy HE A I Faee afven g
(4) omsfa | g fawt afm g

ffafga @ @ frm R & sfegiea 4 g
et & ?

(1) UcSRelA Td Jiaifde

(2) ISR T VeeieddH

(3) UUATEES BHIA T WA

(4) UM T WIS gHM

69.

70.

71.

72.

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine
(2) Ecdysone
(3) Estriol

(4) Estradiol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(2) Limbic system

band of fibers
connecting left and
right cerebral
hemispheres.

(3) Corpus callosum

(4) Hypothalamus production of

releasing hormones
and regulation of
temperature,
hunger and thirst.

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body
(2) ligaments attached to the iris
(3) smooth muscles attached to the ciliary body

(4) smooth muscles attached to the iris

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin
(2) Progesterone and Aldosterone
(3) Parathyroid hormone and Prolactin

(4) Estrogen and Parathyroid hormone
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73.

74.

75.

76.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) T Hifdepnd

(2) TOTSHT SHIRTHIT

(3) firfi wifsrerd

(4) A (Mecie) IR

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

&y I &y I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c. U iii. wforen frafafy
a b c

(1) i ii i

2 i ii iii

3) ii i i

4 i i ii

F=fefiga § & saemtie vae foer &1 Ierer =
2?

1) wafEE
(2) Taferermar
(3) araehifa
(4) wigfasa

hepTdl Ut T | Shicyd wewqul § Fifh I8

(1) T & duet UdeT & Tl waa & e
1§ AT 8 TR % fow |

(2)  HEIHE TS | susht 30 fhamsiier s @ |

(3) WA | g R Ufded dg % wed ey
fomtor =Rt et 2 |

(4) VT ag o grEnfaa iy TR R T 7 |

73.

74.

75.

76.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chief cells

(2) Mucous cells

(3) Parietal cells

(4)  Goblet cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) il ii i

(2) i ii iii

3 i iii i

4 i iii ii

Which of the following is an occupational

respiratory disorder ?
(1) Anthracis

(2) Silicosis

(3) Emphysema

(4) Botulism

Calcium 1is important in skeletal muscle

contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin.

(2) activates the myosin ATPase by binding to
it.

(3) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(4) detaches the myosin head from the actin
filament.
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71.

78.

79.

80.

81.

82.

At NIERCIRCDERCT | L

(1) g™ R - fgag & e
(2) TEEm ~ fem orga

(3) wEUER A - UfFhfeRMl % ISh
(4) 3UHETohE! TRE — L-3hRIT R
e % five geoa: fres s € 2

(1) A w fafre

(2) DNATS RNA
(3) Y s Ud RER
(4) —gfFas 37 T SER

TH § HH-A1 HIH TAT & ?

(1) TCA =3k % THASH GAHTRN o oae #§ feua
B ® |

(2) TATShHITATHE HITSTRIT § U= Bidl & |

(3) STfaefiohtoll RIEHINGIRTUT SRR i a1
ot dafea grar 2 |

(4) TAEHIAGE d9 q% BT 8 99 % 38 TS
AT T ISH *h Tt NAD fireran T @ |

% UgrafsHs epem (RER) ¥ f=fafed & @
HA-H " 7g7 gt ?

(1) WA & aeq

(2) T Pl TATEHIHATH

(3) RIS HIIwl

(4) Hehd ITEE I fageH

Sgd ¥ TEEEH TH mRNA & Teg gkl THET
qifeiieergs <l s Wil s @ | TgEEm shl U
GATSHT ! FAT FHad & ?

1) &g

(2) EA™

(3) ey

(4) voIfeesm

freafafga @ @ -8 qifys s AHa gafeamE
%! afofd s 8 ?

(1) e, feamed, wwedt

(2) e, feamadt, fomedt

(3) e, foamed, fomwedt

(4) UTEECH, TG, THET

71.

78.

79.

80.

81.

82.

Select the incorrect match :

(1) Lampbrush
chromosomes

(2) Allosomes

(3) Polytene
chromosomes

— Diplotene bivalents

— Sex chromosomes

— Oocytes of amphibians

(4) Submetacentric — L-shaped chromososmes
chromosomes

Nissl bodies are mainly composed of

(1) Proteins and lipids

(2) DNA and RNA

(8) Free ribosomes and RER

(4) Nucleic acids and SER

Which of these statements is incorrect ?

(1) Enzymes of TCA cycle are present in
mitochondrial matrix.

(2) Glycolysis occurs in cytosol.

(3) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(4)  Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

Which of the following events does not occur in

rough endoplasmic reticulum ?

(1) Protein folding

(2) Protein glycosylation

(3) Phospholipid synthesis

(4) Cleavage of signal peptide

Many ribosomes may associate with a single

mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polysome

(2) Polyhedral bodies

(3) Nucleosome

(4) Plastidome

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Thecodont, Diphyodont, Heterodont

(3) Pleurodont, Diphyodont, Heterodont

(4) Pleurodont, Monophyodont, Homodont
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83.

84.

85.

86.

87.

88.

HUGhH! U b I Sl hl UgaH hINT S T
uTed o § i ud fierd g rfyafaa £ |

(1) UfeRfern

(2) Tfern

(3) Arfecaefiw

4) U

frfefiga & @ sia-ar Sq gwardt 757 2 2
(1) Fwvg

2) @
(3) f@gpar
(4) IHTg

Fr=feifigd & @ 90 FU T SRl 6 T8I TTeT

hiehle ¥ Hd & ?

(1) & I @ W Ahl & AR kI Uy Hi
3uferfa

(2) Y=® I i Jufedfd

(3) g i Iufedfd

(4) TR YER 3ATeDg Afgd W U@

Frafafed & @ -8 Sita 7g@rRl § g3 3cqEH 5
Fq 0 I G 8 2

(1) SEATRSCE
(2) SEEE

(3) IiHIsEH
(4) GEAFIET

fafereem o @it Tersert & fohe R fim & 2

(1) 3 T o fore Hamfirest 1 T Hd

(2) T Al art o Febrem % fore dgpamsfia
arft Bt 2

(3) T & YR % Hrgeh 1A 3

(4) I TR I Yehed o TIT T1eTH AT 9I1T Hd &
Frafefea S=gett & & HH-8 =g HRTE 777 Hd ?
(1) hgeT

(2) Hfhe
(3) TRy

(4) =Yg

83.

84.

85.

86.

87.

88.

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia

(2) Reptilia

(38) Osteichthyes
(4) Aves

Which one
homeotherm ?

of these animals is not a

(1) Macropus
(2) Chelone
(3) Psittacula
(4) Camelus

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of a boat shaped sternum on the
9% abdominal segment

(2) Presence of caudal styles

(3) Presence of anal cerci

(4) Forewings with darker tegmina

Which of the following organisms are known as

chief producers in the oceans ?

(1) Dinoflagellates

(2) Diatoms

(3) Euglenoids

(4) Cyanobacteria

Ciliates differ from all other protozoans in
(1) using flagella for locomotion

(2) having a contractile vacuole for removing
excess water

(3) having two types of nuclei
(4) using pseudopodia for capturing prey

Which of the following animals does not undergo
metamorphosis ?

(1) Earthworm

(2) Tunicate

(3) Starfish

(4) Moth
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89.

90.

Ty 1 H € ¢ el 1w 11 o wel & e it

IR f= few MU fowmewi & @ @E? fasey w1 T

HIT
&y [
(F1%)

a. AlageH FEE i
b. T I HIGW ii.

wary I1
(3784 TF BT YTT)

T I
et

c. TAH AWEA il TTRE
d. I I GUEW iv. et st
v. EHoEy Hafad At
a b c d
1 v v ii iii
2 iv i ii iii
3 v iv i iii
4 v iv i ii

ey 18 & 7S Hel o1 Tary 11 9el § faam il
3t fiw few U fahedt @ ¥ &gt foaew &1 WA

HIfT :
TTET [ Ty 11
a.  TATEIGRAT i. el 4 gfte e
HIE B
b. TR ii. ok H fopEefcta @@ull
fivg

iii. T=B1 § JerEehdl

c. ﬂﬁzﬁ?{ el
REREISRSIN)

d. TS gFRMY  iv. GF § R B EHT

a b c d
(1) iii ii iv i
2 i ii iii iv
(3) iv i ii iii
(4) i iii i iv

89.

90.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I
(Function,) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b. Concentration ii. Ureter
of urine
c. Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
(1) v v ii iii
(2) iv i ii iii
3 v iv i iii
4 v iv i ii

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column 11
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
(1) it ii iv i
2 1 ii iii iv
3) iv i ii iii
4 i iii i iv
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91.

92.

93.

94.

95.

96.

97.

HIRTHT va@T & NAD* 6t yfirst 51 2 2

(1) 9% U U138 o &9 § SR Ll g |

(2) IE T FagH qTEh o &Y § B HT 2 |

(3) ggmm@aw%%qaﬁnsﬁagﬁm
|

(4) g%qz%ﬁ. HYAW % foIT wh ~fFeriierge did
|

f=fefiga @ @ -9 9ew vy H T G S Gy

vE frere Ty gumian 8, e i ot ueh-g & fo

YT e =15k U1 787 L TRl ?

(1) arlgar

(2) FaHl

(3) e

(4) el

ToreH TeRTT-HYINYT T ST 7gT ehetd! ?

(1) I "gow sEAfEn

(2) TiEcr®

(3) &7

4) GFHd

qTedi gl A8 1 ey feffiea § @ fom w9 §

BT R ?

(1) i

2) %

(3) it 3R % g

(4) H A

280 = F R 2

(1) UH W A % o R HAR B Al o I7Ei

1Y TeAdd

(2) U T IS 1 &l YT hrgehl b AT TATH

(3) Jmeh HerA IR FroerH

(4) T IJHBI I Th 7S o AY T

freafafga @ 9S-I o= SRt 4 Thifa s\

T & fofu aerf 2 2

(1) A

(2) wifsTm

(3) Ffcwrm

(4) urfrEm

T FUT H GEd H AN % U g@ AsgeH § fhe

A T HUSHT fohaT ST Tehd & ?

(1) -120°C
(2) -80°C

(3) -160°C
(4) -196°C

91.

92.

93.

94.

95.

96.

97.

What is the of NAD* in cellular

respiration ?

role

(1) It functions as an enzyme.
(2) It functions as an electron carrier.

(3) It is the final electron acceptor for anaerobic
respiration.

(4) Itis a nucleotide source for ATP synthesis.
Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Hydrilla

(2)  Yucca

(3) Viola

(4) Banana

Oxygen is not produced during photosynthesis by
(1) Green sulphur bacteria

(2) Nostoc
(3) Chara
(4) Cycas

In which of the following forms is iron absorbed
by plants ?

(1) Ferric

(2) Ferrous

(3) Both ferric and ferrous

(4) Free element

Double fertilization is

(1) Fusion of two male gametes of a pollen tube
with two different eggs

(2) Fusion of one male gamete with two polar
nuclei

(3) Syngamy and triple fusion

(4)  Fusion of two male gametes with one egg
Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Magnesium

(2)  Sodium

(3) Calcium

(4) Potassium

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C

(2) -80°C
(3) -160°C
(4) -196°C
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98.

99.

100.

101.

102.

103.

104.

105.

frfeafaa & & Si-a1 Uk qachegehl 7E7T 7 ?
(1) s

(2) FEHIGFIRTT

(3)

(4) TS

IR % 1 ATerefiTeh SEicHs T9g HH-9 8 2
(1) zEsifead R Aty

(2) wrEe IR Afoe

(3) wHEI IR FESTHRaa

(4) HEITA T BIEHS

frefafga @ @ FH-1 T THR-GTAN0 HI TR
AffshaT 1 3cuTe 757 B 2

(1) ATP

(2) NADH

(3) Oxygen
(4) NADPH

i hi nifaRfiarar ferad yenfaq 77 &t 2
(1) qE=E I

(2) THEH

(3) CO, Tigal &

(4) O, Higal &

Tiesh afehsy frad Wi ot & 2

(1) 5 3 o 3= ¥

(2) @t gt & s e §

(3) UHHI o7 & Gishaor

(4) Sfemed § vaaq |

shicees & oy freferfiga # & w-a w8 2

(1) oo gt smifmenrsti § o2 hfss 21d 2 |

2) udsfufva formwa? |

(3) I8 TzEEHA RNA HYAYU o1 fohamsiir Toret
2

(4) I8 q% S | WE a1 B |

o T § Ty RS B ?
(1) SR

(2) JIhIhR
(3) TIARIHR

(4) IAFIATHR

JHa TS TORGAT hT JFRTT fohe TTawen H TR
BT 8 ?

(1) ¥ve

2) foug

(3) FHug
(4) UrETishH

98.

99.

100.

101.

102.

103.

104.

105.

Which among the following is not a prokaryote ?

(1) Saccharomyces

(2) Mycobacterium

(3) Oscillatoria

(4) Nostoc

The two functional groups characteristic of

sugars are
(1)
(2)
3)
(4) carbonyl and phosphate

Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADH

(3) Oxygen

(4) NADPH

Stomatal movement is not affected by
(1
(2)
3)
4)
The Golgi complex participates in
(1)
(2)
3)
(4)
Which of the following is true for nucleolus ?
(1)
(2)
3)

hydroxyl and methyl
carbonyl and methyl
carbonyl and hydroxyl

Temperature
Light
COg, concentration

O, concentration

Fatty acid breakdown
Formation of secretory vesicles
Activation of amino acid

Respiration in bacteria

Larger nucleoli are present in dividing cells.
It is a membrane-bound structure.

It is a site for active ribosomal RNA
synthesis.

4)
Stomata in grass leaf are
(1) Dumb-bell shaped
(2) Kidney shaped

(3) Barrel shaped

(4)

The stage during which separation of the paired
homologous chromosomes begins is

(D)
(2)
3
(4)

It takes part in spindle formation.

Rectangular

Pachytene
Diplotene
Zygotene
Diakinesis
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106.

107.

108.

109.

110.

111.

HHE R § €.TH.T. & Th ghg o HavH o g
Freafafaa 8 @ S9-a1 99 am=Ia: S R S
27
(1)
(2)

AT (W A15H)

Ti weATfshg

(3) pBR 322

(4) AHN

qEUSGE HEERT IR TSl g Rl < A 3Ee
At Y fomr srgEfta & SegEnel H IwT B
g1 @l 2 ?

(1) Sa-3g=d

(2) RIEE (S ged)

(3) Sa-3yur

(4) J9-39EeH

e TN % I ogafimha: Fq@id Sfai &
Yadd & SR H GRET o oA o ol YA | hiF-A1
TS ITerEt § 2

(1) 9 s gy uftvg (ICMR)

(2) S wa Shenfie SIgEY™ fyg (CSIR)

(3) AR JRMIGEA geaeh Afufd (GEAC)
(4) 3TAf YiETer sEgM Afdfd (RCGM)
it e AR (PCR) H =RON 1 W&l A
TR ?

(1) oo, fospeieton, SieH

(2) oFie, foaeao, fohdient

(3) forpetentor, arfier, faeawon

(4) Toepdieto, fowao, wieH

gl guel i ghT
(1) TS -

faash I

(2) Fyx 3wt SHe  —  foet sig
(3) Sft. Hed — B
(4) .=, g —  USHHI

e foeeft ol grn TEe i T 98 fher 1 v
(wehear) Toparm o o, wrarfy O fored wa A o wHy
T foemm € | = fhae arafaa 2 2

(1) Co-667

(2) e FER

(3) wTEwHdt

(4) | U

106.

107.

108.

109.

110.

111.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
3)
4)
Use of bioresources by multinational companies

and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
(4)

Retrovirus
Ti plasmid
pBR 322
) phage

Bio-infringement
Biopiracy
Bioexploitation

Biodegradation

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Council for Scientific and Industrial
Research (CSIR)

(3) Genetic Engineering Appraisal Committee
(GEAC)

(4) Research Committee on Genetic
Manipulation (RCGM)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1
(2)
3
(4)

Extension, Denaturation, Annealing
Annealing, Extension, Denaturation
Denaturation, Annealing, Extension

Denaturation, Extension, Annealing

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) FyxRecessive parent — Dihybrid cross
(3) G. Mendel — Transformation
(4) T.H. Morgan — Transduction
A ‘new’ variety of rice was patented by a foreign

company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Sharbati Sonora
3)
4)

Basmati

Lerma Rojo
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112,

113.

114.

115.

116.

117.

118.

&g? g 1 YT :
(1) T b i i
(2) ks e I matwm - Humd.

(3) ThaaTH kel QYT A HHIS — o1 AU

(4) By BOcE 3R U, WA — JETT J2r3a4
frafafga & @ Fva wm & Sfaa & ®9 0
ARRfRT T § T Hifed g3 ?

(1) o feRe

(2) AT T I A

(3) TR

(4) dcfiT srEEa

.UA.T. % AedERe wfisfa w1 TR yHr weavem
feremt g T o 2

(1) s H

(2) Sffamy §

(3) forumop #

(4) dHeuH

frafafed # @ ®F-91 9w 777 €9 ° gAkTd 7 ?

(1) HeUH HS &AWl :  wgforhodl

(2) ABO T aqgd : HEgTa

(3) dw=. HEH ;. HEAd

(4) XO R fom fagfor . fegar

‘STRded’ fohdeh gRT IcqTied BId @ ?

(1) e fawrsm gro

(2) ¥ fawreH gra

(3) fSEHS g

(4) IAFYFHAT AT

Fﬁ%%@ﬂﬁ?:

(1) “Tgerar’ 3eg 1 T el Teraa o fomam |

(2) U T e fafewr Asfes gro foesféa femam o
o |

(3) UTGHHYT shi @ISl TH. 3Teed M o i off |

(4) TATRHIET T § 9T od 8 |

ffafiga & 9 forgd 39 Sfied w1a § shad Tk IR

& T BT 8 ?

(1) g wfisfia

(2) hegd

(3) udtar

(4) ™M

112.

113.

114.

115.

116.

117.

118.

Select the correct match :
(1) Alec Jeffreys — Streptococcus
pneumoniae
(2) Alfred Hershey and - TMV
Martha Chase

Francois Jacob and
Jacques Monod
Matthew Meselson
and F. Stahl
Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Cellulosic intine

3)
4)

3

Lac operon

Pisum sativum

(4)

Sporopollenin
Oil content

The experimental proof for semiconservative

replication of DNA was first shown in a

(1) Fungus

(2) Bacterium

(3) Virus

(4) Plant

Which of the following pairs is wrongly

matched ?

(1) Starch synthesis in pea Multiple alleles

(2) ABO blood grouping Co-dominance

(3) T.H. Morgan Linkage

(4) XO type sex Grasshopper
determination

Offsets are produced by

Meiotic divisions
Mitotic divisions
Parthenogenesis
Parthenocarpy

(1)
(2)
6))
(4)

Select the correct statement :
(1)
(2)

Franklin Stahl coined the term “linkage”.
Punnett square was developed by a British
scientist.

(3)
4)

Which of the following flowers only once in its
life-time ?

(1) Bamboo species

(2) Jackfruit

(3) Papaya

(4) Mango

Transduction was discovered by S. Altman.
Spliceosomes take part in translation.
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119.

120.

121.

122,

123.

124.

fpa T R 2

(1) S & st § @uff Sfaew s

(2) o8 Wifdeh TAM &l Teh SHaul &al 3

(3) @a%ﬁaamﬁwénéw‘m !, &l 98
L&dl

AUHE 1 98 TUH S SE W @ % g
=AM

THAESA H, M o {IhdiRU IR IA0aH
frefie 1 fegfrr & frefafaa & @ w9 o=
3IUTH ok B9 H HIE KAl B ?

(1) EA

2 «Cl

(3) AT

(4) Fe

frfafaa stfesl @ form yor o1 wiifeufadha fifre
e feRarm S 2

feefiores SusieraT : 120 g
Trifires UM : 60 g

1fHeh 3cUeeh : 10 g

AT T 3ol Tuifirg

St 1 fifrs

(3) SemT 1 e TR

(4) T 1 e fifis

frafafaa & & w1 vk fgdaes w3 2
(1) €O

(2) CO,

(3) O,

(4) SO,

forva 3iia fea@ et T ST B 2

(1) 553
(2) 2130w
(3) 223w
(4) 16 faamr

Fefadt & o s B 2

(1) TIX

(2) I

(3) U 3MEE U A & AW Tl hi q&q
(4) ETE I DS a1 s} shl T

4)

(D
(2)

119.

120.

121.

122,

123.

124.

Niche is
@}

all the biological factors in the organism’s
environment

(2)
3

the physical space where an organism lives

the functional role played by the organism
where it lives

(4)

the range of temperature that the organism
needs to live

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1)
(2)
3)
4)
What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Carbon
Cl
Oxygen
Fe

Primary consumer: 60 g

Primary producer : 10 g
(1
(2)
3)
4)
Which of the following is a secondary pollutant ?
(1 CO
(2) COq
(3) Og
(4) SOy

Inverted pyramid of biomass
Pyramid of energy

Upright pyramid of biomass
Upright pyramid of numbers

World Ozone Day is celebrated on
(D
(2)
3)

(4)

Natality refers to

(1) Death rate

(2) Birth rate

(83) Number of individuals entering a habitat

4)

5% June
215t April
2274 April

16t September

Number of individuals leaving the habitat
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125. T I ® <t 78 "ei o Te 11 h1 wel ¥ fie hifvg
IR = for wu fasmedt & @ @t faswew &1 =
Hifs -

&y I &y 11

a. UQUEE i 9 qiedi o Sl
U 1 Teh LI |

b. el ii. e ° Ui g |eft s
1 fafergeeh UM Td T 3R
IThT Tga T grmar & fore
e quM X g TH g |

c. EUEEE il UH TF W gy Tl Bl
@t 3 TR T T
U X @1 AT R |

d. duE  iv. T Y Smd s g
(SheTet) 3R 37 foehed &1 & S

fafirm afent <t vgem & o
TEH 2d 3 |
a b c d
1 i iv 1ii i1
(2) 11 il i iv
(3) iii iv 1 il
4) i iv 1i1 i

126. f=fafiegd & @ SH-81 777 &9 ° goferd g 2
(1) TUHHIMh JUh  —  GHTAEHNATT
(2) fewamfies sl — o ST

(3) THDINH Sfa —  FaRT
(4) Sm g —  gRRET
127. Frafafea § @ forod hrgwdere aun stepifaseH
% qgard oo sfestia &9 § 3cael 2§ 2
(1) =grenT
(2)  3TeRIT
(3) @Imrsdis
4) CiRwa
128. U AT fohed BId & 2
(1) @i
(2) d&FHhe
(3) wZ7E
4) ™

125.

126.

127.

128.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii.  Alist that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various taxa.

a b c d
1 i iv iii ii
(2) il ii i iv
(3) iii iv i ii
4) ii iv iii i

Which one is wrongly matched ?
(1) Uniflagellate gametes — Polysiphonia

(2) Biflagellate zoospores — Brown algae
(3)  Unicellular organism - Chlorella
(4) Gemma cups —  Marchantia

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Neurospora

(2) Alternaria

(8) Saccharomyces

(4) Agaricus

Winged pollen grains are present in
(1) Mustard

(2) Cycas
(3) Pinus
(4) Mango
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129.

130.

131.

132.

133.

134.

135.

Yoo foReH Bt § 2

(1) e |

(2) TIGA-ICATTS STAgIg §

(3) o™ Segg |

(4) HEEH wEd §

I3 UTed -4 § e Tgdtae gig Ot A foopa &
Bt 2
@)
(2)

RIE|
EUEICRCIEREI Sl

(3) dIghed

(4) wHud

Feudt afgat el gt & ?

(1) SR

(2) iy

(3) el

(4) dohe

fefioreht 7 # fecfiae Ssem it weiew formd 3ca=
A8 ?

(1) sfideer favsan

(2) HaE Tl

(3) weflg fawsan

(4) <PISH

AT HI B AT

(1) <haehl 3T UIEY SITd & He&Al | whifsrepr fufa
39feord it 2 |

(2) TR H GEEY SRfEAEERAT ¥ R |

(3) TRU H e Wit Saorrdt H Hifses @
IR Teh WTE & |

(4) TIUSISHE | e Feid R G T80 w6
LA B |

frafafaa & @ wH-51 w9 &g 8 ?

(1) FEasioEl #§ siavs sverm i gu aieg
G

(2) IfFefoder ww  fowmeiem aenm g, @ik
o7 T THESTY] aTel 7 |

(3) @rEHE AN [Fgg THT T FIERUGET O AR
B E |

(4) TERe™ ATt 7 |

STehtehe, feRdehT TUT-RUT & 2

(1) d1

(2) ITaET g

(3) g

(4) v qA

129.

130.

131.

132.

133.

134.

135.

Pneumatophores occur in
(1
(2)
3)
4)

Plants having little or no secondary growth are
(1)
(2)
3)
(4)

Casparian strips occur in
(1)
(2)
3)
4)
Secondary xylem and phloem in dicot stem are
produced by

(D)
(2)
3)
4)

Select the wrong statement :

(D

Halophytes
Free-floating hydrophytes
Submerged hydrophytes

Carnivorous plants

Grasses

Deciduous angiosperms
Cycads

Conifers

Epidermis
Pericycle
Endodermis

Cortex

Apical meristems
Vascular cambium
Axillary meristems
Phellogen

Cell wall is present in members of Fungi
and Plantae.

(2)
3

Mushrooms belong to Basidiomycetes.

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.
(4)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

Which of the following statements is correct ?
(1) Ovules are not enclosed by ovary wall in
gymnosperms.

(2) Selaginella is heterosporous, while Salvinia
is homosporous.

(3)

Stems are usually unbranched in both
Cycas and Cedrus.

(4)

Sweet potato is a modified
(1) Stem

(2) Adventitious root

3)
(4)

Horsetails are gymnosperms.

Rhizome
Tap root
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136.

137.

138.

139.

140.

141.

N-AIfehi § §9eh! ST STeRATST I Heal g3l
EHE R

()’  HNOj;, NO, Ny, NH,CI

(2) HNO,, NO, NH,CI, N,

(3) NH,CI, N,, NO, HNO,

(4) HNO,, NH,CI, NO, N,

FrafaRad # @ 79 13 & awi § wATvgS BrsAmett &
-1 Y & B ?

(1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

(3 B<Ga<Al<In<Tl

(4) B<Ga<Al<Tl<In

e 3@ H WIH § T@d g¢ fefaRgd § @
A Grg H WA UG b AT H feRam o
TRl & ?

(1) Fe

(2) Zn

3) Cu

(4) Mg

frfafigs # & wHE a MF63‘ CIDEICE I C
e g 2

1) Ga

(2) Al

3) In

4) B

garHl & fou fFafafea 8 @ -1 w1 g 787
77?
@h)
(2
3)
(4)

avft Tehel AR SATeRdt 3 9 B |

auft srferedieren Stfirentes 8 |

FALH <l TTfereh geidei Ug0 Tl # |
YA & orEr @ft  gATeHe  Stierdie
3TaETd g @ |

CIF; & §&=AT § g T ‘Cl W THIhR IH|
TGl hl TG B

1)

2

(3) dH

(4) =X

136.

137.

138.

139.

140.

141.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNOg, NO, N,, NH,Cl

(2) HNOg, NO, NH,CI, Ny

(3) NH,CI, Ny, NO, HNOg

(4) HNOg, NH,CI, NO, Ny

The correct order of atomic radii in group 13

elements is

(1) B<Al<In<Ga<Tl
(2) B<Al<Ga<In<Tl
(3) B<Ga<Al<In<Tl
(4) B<Ga<Al<Tl<In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe
(2) Zn
3) Cu
(4) Mg

Which one of the following elements is unable to
form MFg' “ion ?

(1)
(2)
(3)
4 B

Ga
Al

In

Which of the following statements is not true for
halogens ?

(1)
(2)
3

All form monobasic oxyacids.
All are oxidizing agents.

Chlorine has the
enthalpy.

highest electron-gain

4)

All but fluorine show positive oxidation
states.

In the structure of ClFg, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
3)
(4)

one
two
three

four
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142.

143.

144.

145.

146.

Ufirelts wd Ufnrerafec o fofiern 2

(1) U A 1 - 4 o999 q91 1 - 6 o849
2

UHAE H 1 > 4 o997 91 1 > 6 p-oG &

(3) U™ M Td Toiaerd § o 8

(4) UHANEE H 1 4 o999 1 1 - 6 p-EA 8

foeieh o1g 19a ATeThA Tgarhi o Haw H frfafaa §
Y HH-A1 HIH HGHT 3 ?

(1) s fam W wgas geast 5 =
TR A B 1 |

Y Tgforarcner wa FifshaTcnsh EHEl & Thahl o
S 8 |

T SE @Al § Tad Heedeeh Y
2§ |

(4) Shefrge U9 HATHH $Hh 3T & |

2:3 g WifHeh A qAT 4-5 g ITFAToTeh TFA I TG
H,S0, & fsral ha™ W Icafsia e Mg st KOH
% BIC ghel ¥ TAMW Il 2 | STP W o+ gY I9]
T IR (g H) g

(1) 14

(2) 30

(3) 44

(4) 28

Frafafga & @ wH-@ ileus it waifus <l
T B ?

(1) MgO

(2) BeO

(3) CaO

(4) BaO

Ul 1 AR Yad sty Hiew H O W
m-TTEEINeA A ot ST § ifeh

(1) wiceamges 1 sufefa = srecE 15 Tug g
shaet m-fearfa o & S B |

FoFAeE feered srfufen # Wi W
m-ﬁ%{W‘ﬁ%l

A (vered) wrem | el ufefifem smem
& ETH B R |

yfoeemuss i erqufeafd @ A1gd TR wHeN
m-ferfa o ST 7

(2)

(2)

3

(2)

3

(4)

142.

143.

144.

145.

146.

The difference between amylose and amylopectin
is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylose have 1—54 o-linkage and
1 — 6 B-linkage

(3) Amylose is made up of glucose and
galactose

(4) Amylopectin have 1 — 4 o-linkage and

1 — 6 B-linkage

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?
(1)

They contain covalent bonds between

various linear polymer chains.
(2)

They are formed from bi- and tri-functional
monomers.

3

They contain strong covalent bonds in their
polymer chains.

4)

Examples are bakelite and melamine.

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1 14

(2) 30

3) 44

4) 28

Which of the following oxides is most acidic in
nature ?

1) MgO
(2) BeO
3) CaO
(4) BaO

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(D

In spite of substituents nitro group always
goes to only m-position.

(2) reactions

In electrophilic substitution
amino group is meta directive.

3

In acidic (strong) medium aniline is present
as anilinium ion.

4)

In absence of substituents nitro group
always goes to m-position.
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147.

148.

149.

150.

Hqifieh A it Na & Affshan e ® 9 B a1 2 ao
PCly % |1 STTTHIT W Wag C a1 & | B W C
gl S g T R e W SRS 3R U
BaT2 | A, BANMCHA T

(1) C,H,OH, C,H, C,H:Cl
(2) C,H;OH, C,H;Cl, C,H,ONa

(4) C,H;Cl, CyHg, C,H;OH

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
T Ufeehed SHES el & W fh gdw siffen g
et gregrpre # ftafda grar @ foem f6 =) @ @m
e T 7 | (A) 7

(1
(2)
(3)

4)

CH=CH
CH, = CH,
CHy

CH; - CH;4

T Ak C, Hy Tfafaa stfufsransti & Torar 2 -

3 Clz/A Brz/Fe Zn / HC1
A B

C

p-SHICIE

3-3TH1-2, 4, 6-ZTFARISIIEH

IHsd | Thid ue Ama fraed get & ffifa aegem
I HIA-HT SFGS FETN TGHF g7 8 2

(1
(2)

3
(4)

N505
NO,
NO
N,O

147.

148.

149.

150.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, CoHg, CoH5CI

(3) C,H5OH, C,H;ONa, CoH;Cl

(4) CyH;Cl, CoHg, CoH;OH

(A) by
substitution to form an alkyl bromide which by
Wurtz to
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine

reaction is converted gaseous

atoms. (A) is
(1)
(2)

CH=CH
CH2 = CHZ
(3) CH,

(4) CH;-CH,

The compound C;Hg undergoes the following

reactions :
3CL,/A

Bry/Fe _ Zn/HCI
A B

7Hg
The product ‘C’ is

(D
(2)
3
(4)

m-bromotoluene

o-bromotoluene

p-bromotoluene
3-bromo-2,4,6-trichlorotoluene

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyO;
(2)
3)
4)

NO,
NO
N,O
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151.

152.

Frafafea o @ fopm oy & od @ gd & wwooRn
sp?, sp?, sp, sp HeRLUT ST STl & ?

(1) HC=C-C=CH
(2) CH,=CH-C=CH
(3) CHy-CH=CH - CH,

(4) CHy=CH-CH=CH,

feafafga & @ ®9-w wEvARA g9l mh
aufea g 2

NO,

(D

(2)

H
® a
@ H7©
Y’ ©

153. f=fafiga & @ wfqeemuest & -1 9@ & ey #

HH-°1 T 2 ? (R = Ufewat)
() -NHy<-OR<-F

(2)
(3)
(4)

—-NRy<-OR<-F
—-NRy>-OR>-F
-NH; >-OR>-F

151.

152.

153.

Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

HC=C-C=CH
CHy=CH-C=CH
CH; - CH =CH - CHy
CHy=CH - CH = CH,

Which of the following carbocations is expected to
be most stable ?

Y H
NO,
H
@ v a
NO,

@ H7©
v/ &

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH,<-OR<-F
(2)
3)
(4)

-NR;<-OR<-F
-NR;>-OR>-F
-NH; >-OR>-F
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154. 39 3Afafsean

155.

OH O Na*

@ + CHClg + NaOH ———> @ CHO

7§ afffera soegeg! @

(1) SEFRAERE garRE ((?HClz)
RIS G (((?HO)
SEFAREH (:CCly)

S
(4) SISFARMAA RO (CHCly)

(2)
3)

HIaifrdfctsh Tl o FIUATH THCT MVh FeIuH
I Ufcegsel, HICHT de J& d% foh Uchlgial A
I B & | T8 ohaeh o g # 2

(1) F=q:3nfueeh gEeioH 989 a1 °

(2) HEfFIAe A & 4 d

(3) SAANTIH FEGISH qe a4 I

(4) Hreifedfersh Tl i AfIH SATIH TUE TSR
T STRYT Sl oh g BT 8

156. TF 3Ifik @ A, CgH,,0 S 6 NaOI (Y i s1ffsman

NaOH & oieh s 1) | 1fufshan sk enerfores
Y ot diel S8y a1 @ |
A I Y AT B

1 Hye —_ ) CH, - OH 31,
@—CH2—CH2—OH3ﬁTIQ

CH,

CH, @ OH 3 1,
{ M- cH-cHy 3R,
|
OH

(2)

(3

4)

154. In the reaction

155.

156.

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

®

(1) dichloromethyl cation (CHCly)

@
(2) formyl cation (CHO )

(3) dichlorocarbene (:CCl,)

S]
(4) dichloromethyl anion (CHCly)

Carboxylic acids have higher boiling points than
aldehydes, alcohols of
comparable molecular mass. It is due to their

(D
(2)
3
4)

ketones and even

formation of intramolecular H-bonding
formation of carboxylate ion
formation of intermolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

HyC —_ ) CH, - OH and I
¢ )~ CH, - CH, - OH and 1,

(1)

(2)

(3)

4)
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157. Fefafaa sfufsrn sf@en 4 gea 3¢ P, Q 3R R
ﬁ%ﬂﬁ?:

IEE]
AIC,
© + CHyCH,CH,Cl ———3 >
i) O,
o > Q+R
(ii) H3O*/A
P Q R
CH,CH,CH; CHO
1) CH4CH, — OH
CH,CH,CH, CHO  COOH

SelNeNe
OH
CH(CHy),
3) @ CH; - CO — CHy

CH(CHy),

OH
@ CH5CH(OH)CHj4

158. ffafea @ @ 9w ANfes g s gohar
?7?

(1)
(2)
(3)
(4)

4)

UERIE!
[CIEECIES)
TATEEA
AAIEh ITFA

157. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
1,
@ + CH3CH,CH,Cl ——3 >
(i) 0,
————>Q+R
(i1) H3O*/A
P Q R
CH,CH,CH; CHO
1) CH,CH, - OH
CH,CH,CH; CHO  COOH
SelNeNe
OH
CH(CH,),
3) @ CH, - CO - CH,
CH(CHy), OH

@) @ @ CH,;CH(OH)CH,

158. Which of the following compounds can form a

zwitterion ?
(1) Aniline
(2) Acetanilide
(3) Glycine

Benzoic acid

4)
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159.

160.

161.

162.

163.

Efam rfifsran

MnO, +Cy05 + H* — > Mn2* + CO, + Hy0
% o wgfer Tl 3 R sfere % w8 s
2

MnO; C,07- H'
(1) 16 5 2
2) 2 5 16
3 5 16 2
4 2 16 5

srfufsran & f=fefaa & @ - e s1feaw 3care
fomfor % foe sTeert 7,

Ay (g) + By (g) = X, (g)
9 99 @ 3= T
=7 a9 wd = T
3= d9 g 1 T

3= 99 W@ 3A 79

AH=-XkJ?
1)
(2)
(3)
4)

e TSR ! TRFh |Igdl I AT fohal ST 2,
@ I wife afufsran & fou s1ed-ommy
(1) e e @

(2) 83

(3) riEfdd war 3

(4) TaT e B

aTTest T wefieRtor H GENeH T ‘o’ TEfid B
(1) 79 3t & o9 A

(2) 79 3Rl % IIAH |

(3) T A % HEA ATHYV Tl

(4) T vRT &% He ufeed foagq-am 3

Xy, Yo 3R XY I 7wy foRioH Sleti & Fuma

1:05:1 % | XY & fat=d #H oo
AH = — 200 kJ mol™! 2 | X, 3l ey forftsm it
gt

(1) 200 kJ mol™!

(2) 100 kJ mol™!

(3) 400 kJ mol !

(4) 800 kJ mol !

159.

160.

161.

162.

163.

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 16 5 2
2 2 5 16
3 5 16 2
@ 2 16 5

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1)
(2)
(3)
(4)

Low temperature and high pressure
Low temperature and low pressure
High temperature and low pressure
High temperature and high pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) ishalved
(2) is doubled
(3) remains unchanged

(4) s tripled

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1)
(2)
3

density of the gas molecules
volume of the gas molecules

forces of attraction between the gas
molecules

4)

electric field present between the gas
molecules

The bond dissociation energies of X,, Yo and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™l. The bond dissociation
energy of X, will be

(1) 200 kJ mol™*
(2) 100 kJ mol™*
(3) 400 kJ mol*
(4) 800 kJ mol*
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164.

165.

166.

167.

AAREY o o (X) ¥ il e s e
Afies s@r 7 1 IR’ (X)) W Feaw ofaEen ©

3@?{7‘&@%7&1'{1 152 2g2 2p3 %,?ﬁg“{-f?ﬁ'ﬁ'ﬁ?ﬂ
T ga 7

(1) MgyXs

(2) MgX,

(3) MgsX,

(4) MgyX

T 1 HA & A9 T bee T BT 8 | 900°C

FW Tg fec BT H ufEfdd 81 Sl 8 | 3= & wH
% 9 W Ted T 900°C A9 W Hed | 3TUTd &R

(WM TRT TR 1 AieR GeamH e T B ard
% @y fer §)

J3

2
43
3v2

1
3 5

3v3

42

Fraffea wiefie ® foem Hifv

CN*,CN~, NO @1 CN

T O fhoehl S=qu ey Hife B 2
(1) NO

(2) CN~

(3) CN

(4) CN*

Frafafaa & @ a1 FeF @ 8 2

(1) ‘& Heeh H Folag h HA heleh U Fom
I % R |

T HeTh o9 g9 gesh ¥ fAféy ® Safs
Th T H Ush $ECH SN FieH HeArsl
ffde 2 |

d o % AU m® A= Y= & |

N U] T gl fa=rma

162 252 2P} 2p 2p,

tol (M (ALY

(D

(2)

(4)

(2)

3
(4)

7

164.

165.

166.

167.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MgyXs

(2) MgX,

(3) MggX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

J2

43
3v2
1

6)) 0

33
442

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN~
(3) CN

(4) CN*

Which one is a wrong statement ?

(D

(D

(2)

4)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) An orbital is designated by three quantum
numbers while an electron in an atom is

designated by four quantum numbers.

3

The value of m for dZ 9 1s zero.

4)

The electronic configuration of N atom is

952 Zp}li 2p)1] Zp;

tol (ML

152

e
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168.

169.

170.

171.

vom e wa fed whife srfufsransti § wdt fafimar @
(1) vum wife &t Affspan w1 o sifiers 6t
Tgaett W R T8 W @ fifm s f
Al o1 a1 SAferRes 1 drgaret W At
1 &

S hife shi AR 1 3H-311g [A], W FR
TEl 7; Todi =ife i srfufsran 6 sred-amy (A]
oz faeft B

o hife <kl arfifsean o1 A sifiees i
Hrgarett W R swtan #; fediw ife < srfufsen
T AT AR i Frgaret W A T8 e
H

v shife Al 3rfirfshar st ST fopam S Hehan
2; fedfra =ife < srfrfspen =1 SR &1 T
Hehdl 3

form feurfa & STat o STt 1w sifYreRad B 2

(1) 18 mL e & fow

(2) 018 g & forw

(3) 1073 da 5 % ferg

(4) 1atm T 273 KW 0-00224 L 1 9157 & foTw

CaH,, BeH,, BaH, # 33 Jhfd 1 51 2
(1) BeH, < CaH, <BaH,
(2) CaH, < BeH, <BaH,
(3) BaH, <BeH, < CaH,
(4) BeH, < BaH, < CaH,

Jra feu U e ®, s hr e SYaEen #
ied fafie faar. o (emf) AFT W 0T TR

- 182V _ 15V
BrOy — BrO3 —— HBrO

(2)

3

4)

Br

B
10652V 2 1595V

HH-H Tefis STEHIaE | T 8 ?
(1) BrOjg

(2) BrO;

(3) HBrO

(4) Bry

168.

169.

170.

171.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on

reactant concentrations

the half-life of a first-order reaction does not
depend on [A]l,; the halflife of a

second-order reaction does depend on [A],

(2)

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

3

(4)

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

In which case is the number of molecules of water
maximum ?

(D
(2)
3
4)

18 mL of water
0-18 g of water

1072 mol of water

0-00224 L of water vapours at 1 atm and
273 K

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BeH, < CaHy < BaH,

(2) CaH, < BeH, <BaH,
(3) BaH, < BeH, < CaH,
(4) BeH, < BaH, < CaH,

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy — BrO3 —— HBrO

Br~

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(D)
(2)
3
4)

Brog
BrO;
HBrO
BI'2
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172.

173.

174.

175.

BaSO, #1 298 K W 5a # faeraar 2-42 x 1073 gL ™!
& | fortera qurhet (K ) 1 7 g

(fean T 8 BaSO,, 1 #iek g89WH = 233 g mol 1)

1-08 x 10719 mol? 1.2

(D
(2)
3

4)

1-08 x 102 mol® L2
1-08 x 108 mol2 L2

1-08 x 10" mol? L2

Frafafea foemmi 1 NaOH wa HCL i fim-fig
Hrgarall T TG o fsor & o= = R

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

394 O fohgent pH, 1% ST 81 2
1 b
(2) a
3) ¢
4) d

fffigs & & -8 o0 W ARE T Thed &ma
it et 7 2

(1) hact RE o A IRATT T

(2) haed IR & ATHR T

(3) haet IR & AEY g W

(4) STRE & AAY IRAT g A9 fog g W

NH,, H,, O, @1 CO, % fou arst aew oo
HAM: 4-17, 0-244, 136 W 359 feu ww ¥ |
fFrafafea @ @ =H-H g o8 @ @ gfaa g8 S
77
(1)
(2
3
4)

NH,
H,
o,
Oy

172.

173.

174.

175.

The solubility of BaSO, in water is
2:42x 1072 gL' at 298 K. The value of its
solubility product (Ky,) will be

(Given molar mass of BaSO, =233 g mol 1)

(1) 1-08x 107" mol® L™
(2)
6))

(4)

1-08 x 1072 mol® L2
1-08 x 108 mol® L2
1-08 x 10 4 mol® L2

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCl + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
1 b
(2) a
3) ¢
4 d

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion

alone
(2)
(3)
(4)

Size of the ion alone
The sign of charge on the ion alone

Both magnitude and sign of the charge on
the ion

Given van der Waals constant for NH;, H,, Oy
and CO, are respectively 4:17, 0-244, 1:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NHj4

(2) H,

(3) COgq

(4) Oy
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176.

171.

178.

179.

180.

I e, Fe(CO)5 8
(1)
2)
(3)
(4)

HPe [CoCly(en),] GRT FERid HHTERIEAT 1 TN &
(1)
(2)
(3)
(4)

fafafgd 8 9 -9 A d-d GHH euidr g a0
& g i 2

(1) Cr0Z”

2 Cr,02

(3) MnO%~

(4) MnO,

[Ni(CO),] Ta I SATfHfd Td Frashi o1 &
(1) 3 SHqe sl @ Sfagreshi

(2) FIEHABE SATHIT Td Sfagraehi™

(3) gSHAhR SATfd Tt STgFhE

(4) = T S T AT

Hram 1 # fgu MU g1 ST @ wiem 11 # fiu Mo
AT & WU gEEeh  oeEn 8 fEmsy qun
@1 weha 1 fAfdse hifvre

176.

177.

178.

179.

180.

Iron carbonyl, Fe(CO)jy is

(1) tetranuclear
(2) mononuclear
(3) dinuclear
(4) trinuclear

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Geometrical isomerism
(2) Coordination isomerism
(3) Linkage isomerism

(4) Tonization isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

1) Cro7
(2)  Cry02~
(3)  MnO%"
4)  MnO,

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) tetrahedral geometry and diamagnetic

(3) tetrahedral geometry and paramagnetic
(4) square planar geometry and paramagnetic

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Hicid 1 Hicrd 11 Column I Column II
a. Co®* i, V8 BM. a. Co’ i. 8 BM.
b, Cr ii. /35 BM. b. Cr ii. 35 BM.
c. TFe¥* iii. V3 B.M. c. Fe* iii. 3 B.M.
d. N iv. 24 BM. d. N iv. 24 B.M.
v. 15 BM. v. 15 B.M.
a b c d a b c d
1 iv v ii i 1 iv v ii i
2 i ii ii iv @2 i ii iii iv
(3) iii v i ii (3) iii v i ii
(4) iv i ii ii 4) iv i il iii
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Read carefully the following instructions :

1. Each candidate must show on demand his/her

. ’ mit Card to the Invigilator.
1@@‘4’(2@%14'&@94? fierr =1 o9 Admit Card to the Invigil
NCRIRCE ﬁ@'rq“
! . No candidate, without special permission of
9. arefieres o frlees i fasiy 343"4'&' ¥ for the querintendent or Invigilator, would
Eﬁé e WA T B | leave his/her seat.
. . The candidates should not leave the
3. HRg e + 31 IW A ﬁ{Q for uq Examination Hall without handing over their
Iuferfagas @ AN BEAIER feru fomm =8 Answer Sheet to the Invigilator on duty and
wfemelf wfien wfer =g ?ﬁ@ﬁ | 'ﬂﬁ{ et sign the Atten.dance Sheet tvvi'ce. Cases
w3 e where a candidate has not signed the
& . if L ) = Attendance Sheet second time will be
gEaTer T ﬁEQ LU gg =T S for 3@ deemed not to have handed over the
S UA q'gi"f et % AR I3 313'%!?[ agq Answer Sheet and dealt with as an
hHT HTHAT WHT SATUT | unfair means case.
e o o ¢ . Use of Electronic/Manual Calculator is
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d -
% prohibited.
|
. The candidates are governed by all Rules and
5. Tegia ° = & foru ghemeff qfierm < Regulations of the examination with regard to
ot QEI et 2 frfig § ) 313'&[?1 their conduct. in the Exz.lmmatlon Ha?l. All
o ¥ o S g = qle % cases of unfair means will be dealt with as
o . per Rules and Regulations of this
i ud faf-remi < SafeCSIRN @TIT | examination.
6. frell ot grea d qdien jl(;\ddwl 3T 3¢ g3 |6 No part of the Test Booklet and Answer Sheet
F ﬁé AT 37T T L | shall be detached under any circumstances.
. . The candidates will write the Correct Test
7. qﬁ&ﬂ EIEEIEBIEEI( EER %quﬁm gliilﬂ;! Booklet Code as given in the Test
Hehd Rl qlraqreft Fl@ o 9 Iufeafaases o Booklet/Answer Sheet in the Attendance
fag | Sheet.
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